Examlet 3 Advanced Geometry 4/21/21

1. a) State the Neutral Area Postulate.
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b) State the Euclidean Area Postulate.
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2. A triangle has & = 32°, A = 7.0, and C = 10.0. Solve for the possible remaining
measurements, accurate to the nearest tenth.
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3. Provide good justifications in the blanks below for the corresponding statements:
Proposition: If AABC and ADEF are two triangles such that AABC ~ ADEF, then

AB _ DE
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4. Show that in hyperbolic geometry, two triangles sharing three congruent corre-

sponding angles must be congruent triangles.
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